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Time : Three Hours

Answer all questinns.

I. (a) Amdahl's Law.
, (b) Ilefine MIPS fields.

(c) Lets try adding 6ro b 7ro in binary antl then subtracting 610 to ?10

(d) Determine the gi, P,, Pi and Gi values of these two 16 bit numbers.

a : 0O01 1010 0011 00112

b : 1110 0101 ll10 10112

also, what is carry out (15) (C4) ?

* (e) Ilefine 
"lTni"g 

methodology

(0 What are the operation of the data path ?
(g) Draw the basic structure of a uemory hierarchy.

, (h) Define Elaboration

II. (a) Write short notes on :

- : (i) Measuring performance.

(ir) Relating the metrics.

(iii) Fallacies and pit falls.

Or

(b) Explain about constructing on Arithmetic logic unit.

III. (a) Explain about operands of the computer hardwar-e.

S

Or

(b) (t Explain about first version of the multiplication algorithm and hardware. (10 marks)

(ii) Apply first version multiplication algorithm for following example 4-bit numbers to save
space' multiply 2to " 3to or 0010' x 00112' 

(5 marks)
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IV. (a)

v. (a)

..r :' {5iii'.ffi** rafAr''6a,€ftepti$r3 uiit+tdy tI€ ft*esenubE: ffi:**r bdffi s€{tr€ice

40lc sub $11, $2, $4

44ber.*ad $12, $2, $f , ,.,'' , .:

48hex Or $13, $2, $A

4Chex add 91, 92, $f
50hex slt $15, $6, $?

54hex lw $f6, 50, ($f)

asaut!€ the instretkms to be invoked on an expection begin lile tldl.

ry4ohex sw $:25, looo ($o)

40OO0O44hex S\il $2\ 1004 ($01

ebw what happens in the pipelire if an overflow exeption ocrrrgin th add i*u{rtion.

€,
I l':

Wrise.short Botes on a multicycle implementation.

Writ€ short notes on:
(i) Inter-leaved memories.

(ii) Virtualrrcmory-
Or

Explain about a common frame qre}h for memory hieranchies.
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